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Quiz Date: 9th March 2020 

Directions (1-12): Read each sentence to find out whether there is any grammatical or idiomatic 
error in it. The error, if any, will be in one part of the sentence. The number of that part is the 
answer. If there is ‘No error’, the answer is (e) 
 
Q1. Although it might sound (A)/immodest of me to say (B)/so, I myself am very proud of what 
(C)/ we have accomplished (D)/ No Error (E) 
(a) A 
(b) B 
(c) C 
(d) D 
(e) E 
 
Q2. The society here seems (A)/more frivolous and (B)/drivellous than ever,(C)/ and I am 
having kept clear of it(D)/ No Error (E) 
(a) A 
(b) B 
(c) C 
(d) D 
(e) E 
 
Q3. The jacket is manufactured (A)/from wool and have (B)/khaki cloth patches (C)/ on the 
elbows (D)/ No Error (E) 
(a) A 
(b) B 
(c) C 
(d) D 
(e) E 
 
Q4. She struggled to cope up with (A)/ huge financial worries, and (B)/ongoing problems 
concerning the sale (C)/ of timber from the estate(D)/ No Error (E) 
(a) A 
(b) B 
(c) C 
(d) D 
(e) E 
 
Q5. Reading a book of plays is (A)/another great way to (B)/get some reading in when(C)/ you're 
short by time (D)/ No Error (E) 
(a) A 
(b) B 
(c) C 
(d) D 
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(e) E 
 
 

 
Q6. Nationally, more young (A)/people aged under 18 die (B)/from solvent abuse then from(C)/ 
any other illegal drug (D)/ No Error (E) 
(a) A 
(b) B 
(c) C 
(d) D 
(e) E 
 
Q7. Early transfers of property, large dowries, (A)/ and a system of partible inheritance (B)/ 
favored the entry of son-in-laws into (C)/commercial ventures at an early age.(D)/ No Error (E)  
(a) A 
(b) B 
(c) C 
(d) D 
(e) E 
 
Q8. The latest elevation (A)/ fits into his (B)/template of constantly (C)/defied the odds.(D)/ No 
Error (E) 
(a) A 
(b) B 
(c) C 
(d) D 
(e) No error  
 
Q9. Despite immunisation being free, (A)/ women were not to bringing (B)/in their children for 
(C)/the vaccination shot.(D)/ No Error (E) 
(a) A 
(b) B 
(c) C 
(d) D 
(e) No error  
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Q10. The PAF is saddled (A)/with a number (B)/of legacy issue that (C)/are similar to the IAF.(D)/ 
No Error (E) 
(a) A 
(b) B 
(c) C 
(d) D 
(e) No error  
 
Q11. Central banks command a (A)/important position in the (B)/market economies of (C)/ the 
West today.(D)/ No Error (E) 
(a) A 
(b) B 
(c) C 
(d) D 
(e) No error  
 
Q12. The emergence of financial instability (A)/in India is in line with (B)/what we have saw in the 
(C)/Anglo-American economic area. (D) /No Error (E) 
(a) A 
(b) B 
(c) C 
(d) D 
(e) No error  
 

 
 
 

Solutions 
 

S1. Ans. (c) 
Sol. While introducing oneself, possessive pronoun ‘myself’ should not be mixed up with subject 
pronoun ‘I. hence, option (c) is the right answer choice.  
 
S2. Ans. (d) 
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Sol. Here, instead of ‘I am having’, it will be ‘I have’ in part (D). Hence, option (d) is the right 
answer choice.  
 
S3. Ans. (b) 
Sol. ‘Have’ will be replaced by ‘has’ as ‘The jacket’ is a singular subject. Hence, option (b) is the 
right answer choice.  
 
S4. Ans. (a) 
Sol. Cope is a verb which means to manage. Cope is followed by the preposition with and it is 
never followed by up. Hence, option (a) is the right answer choice.  
 
S5. Ans. (d) 
Sol. Here, ‘by’ will be replaced by ‘on’. Hence, option (d) is the right answer choice.  
 
S6. Ans. (c) 
Sol. Then will be replaced by than because there is a comparison that more people die from 
solvent abuse as compared to any other illegal drug. Hence, option (c) is the right answer choice.  
 
S7. Ans. (c) 
Sol. In plural form, it is always mothers-in-law, brothers-in-law, sisters-in-law. Son-in-laws will be 
replaced by sons-in-law. Hence, option (c) is the right answer choice.  
 
S8. Ans. (d) 
Sol. The right answer choice is option (d). ‘Defied’ will be replaced by ‘defying’.  
 
S9. Ans. (b) 
Sol. The right answer choice is option (b). Here, usage of ‘to’ is wrong making the sentence 
contextually and grammatically incorrect.  
 
S10. Ans. (c) 
Sol. The right answer choice is option (c). ‘Issue’ will be replaced by ‘issues’ here.  
 
S11. Ans. (a) 
Sol. The right answer choice is option (a). ‘a’ will be replaced by ‘an’.  
 
S12. Ans. (c) 
Sol. The right answer choice is option (c). Here, ‘saw’ will be replaced by ‘seen’ as we use third 
form of verb with ‘has/have’.  
 

 
For any Banking/Insurance exam Assistance, Give a Missed call @ 01141183264 

 


